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Jlgt n= (e &)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
oXNHMMHEZHSUH=E M=
30,000& * 160% 4,800
oMo & A A2EFE  1,000,0008 * 14 1,000
oMol SE=7 ALY
4,000,000& = 14 4,000
oMM M HQ 20,000& » 1502 3,000
cEZEEAY EE22 M
3,000,000& = 14 3,000
O= &l 21,000
oTHAHIN 22T S 4
,000& * 300 = 10 21,000
Ogxz 75,000
oHLtHGHCHEl S&Hl Xt
500,000& = 1004 » 5¢& 25,000
oZHES THHTHOHHE =ZH Xt
500,000& = 1004 » 10 50,000
02 =224l 23,250 22,750 500
O3 & HA 1,600
o2& sl dl 1,000,000& * 14 1,000
o2 MJX ds=+=2 &II=
50,000& = 12& 600
OA&EbEl |Xdl| 21,650
oMol &Hl |XIHl 3,000,000& * 14 3,000
oMol #H ®JHl 3,000,000& * 14 3,000
o) R4 2,000,000& = 14 2,000
oc5HE MolltHx S&H H=HI
450,000& = 214 9,450
cSHSHHUHMAZ T2 Y =X b
200,000 * 214 4,200
206 M= Hl 30,000 40,000 A 10,000
01 M2 4l 30,000 40,000 210,000
OYMAIH (0, 8% )
30,000,000& * 14! 30,000
302 OIF=LTHOH E & = 30,500 29,500 1,000
02 QIZHITHOH R EFR &S 2L S 30,500 29,500 1,000
OTLHTHOHCHZ & X =4
7,000& * 509 » 30« 10,500
Ot = 2212t S 3 & H| Il o 2 &
5,000,000& = 14 5,000
OMLtIHol == QI2HeIE O X &boll Xl = I
5,000,000& * 14 5,000
OMHUE & SN 2ol 7FFH|
5,000,000& = 14l 5,000
OAMSRAIE Lol HEHXES
5,000,000& * 14 5,000
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303 L&t 3 2,700 1,800 900
01 243 2,700 1,800 900
OB428 4X 24 S0s Ty
2,700,000& = 14 2,700
405 XHoHF S HI 3,000 3,000 0
01 HatH ESFH S 3,000 3,000 0
OMoitHE 2=I] F+ 600,000& * 5CH 3,000
AHE THOH Of 2 615,250 313,000 302,250
201 Let24E] 5,250 2,000 3,250
01 At 22l 5,250 2,000 3,250
o2g+¢ 5,250
SAIETHHE S LA ERRS N2
70,000% = 53 * 153 5,250
401 AIEHI L 2 CHYI 610,000 310,000 300,000
01 A& HI 610,000 310,000 300,000
OB4ENE ZA L HLEHE WX
10,000,000& 14 10,000
OAE THoHIIoH AFS Ol 2 AF
300,000,000& * 14 300,000
OUSA E2K2 SSHL(HY) +28Y
300,000,000& * 14| 300,000
Nt 29 16,200 16,200 0
307 glz2+ol & 16,200 16,200 0
02 QI2ZtE M AMHEE 16,200 16,200 0
OZMEE Fs NSHsSLHHt 29
16,200,000 14 16,200
LI RASAIY 2B HI 5,500 5,500 0
202 O4dl 5,500 5,500 0
01 = LH 4 1l 5,500 5,500 0
OZMIIErR S ALY O HI
20,0003 = 5% = 553 5,500
STol2E M 157,905 60,720 97,185
< 31,581
Al 126,324
307 gl2tol & 157,905 60,720 97,185
< 31,581
Al 126,324
06 283 157,905 60,720 97,185
OZxol2EMY B&EE 157,905,0008 * 14 157,905
< 31,581
Al 126,324
TH ol 21 & Xl =2 Z I 1,437,000 1,840,000 A 403,000
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Al 570,000
03 A& S THHI 12,000 0 12,000
O32 Mol & X7 HHl(A&=20dl)
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Al 5,000
olgrel 29 668,298 536, 185 132,113
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< 20,709
Al 602,560
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= 45,029
< 20,709
Al 602,560
orerel ztel 382,815 368,650 14,165
201 ¢et24] 204,565 117,450 87,115
01 At 2t 2l 61,430 40,750 20,680
Oget=gHl 46,380
cxTAN 2B M2y 7Y
5,000& * 94 + 43 180
oflge NS - 2 2|
700,000& * 93 6,300
oZRHE CIMHME 50,0008 * 35 * 80% 12,000
oRJIHE =g MZ 20,000& = 80% 1,600
ol Jt2J| ¢ 10,000& * 80K 800
od A4 gtdlel A 1,000,000 = 23l 2,000
c QI TH Y 65 50,0003 = 15004 7,500
oHESEH A2l (28], Meldl)
1,000,000& * 14 1,000
ool AIHRS 2% 448
15,000,000& * 14 15,000
o2d+¢ 6,080
ool SHEDS YMLY
120,000& = 2AI2F = 23] 480
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O= &l 6,720
oS XNAS2RA S20 A
7,000& = 120 =« 83| 6,720
02 2=2Z 4l 143,135 76,700 66,435
Ozs&22= & HA 46,980
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76,0003 * 1A + 128 912
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OolM-t2ellls 83 928,000,000& * 14 928,000

Bl (XH & or A D)
(el &)
- B (BH) - MEMY - BYS 0l &t o il HImEET
fzeldl 18,420 18,770 A 350
SIEIES=Y:| 10,580
cHIANR ES ¥ 300,000& = 123 3,600
ocHFEH 22E Y 300,000& = 12& 3,600
cNe =g 20,0008 * 3% * 122 720
oI ABE 55,000& = 12& 660
= JIEt==&Hl 2,000,000& = 14 2,000
= &l 7,840
o EZ20 A 7,000& = 16¥ = 704 7,840
9,720 7,560 2,160
LH 04 H 9,720 7,560 2,160
=PRI 90,000& = 18H =« 63l 9,720
=&l 4,200 3,000 1,200
2IYLFAHI 4,200 3,000 1,200
N2dgeF=a 350,000& = 12& 4,200
OFA 1t) 928,000 878,000 50,000
WEHHX S 928,000 878,000 50,000
Zeldls 88 928,000 878,000 50,000
dE= 928,000 878,000 50,000
dE= 928,000 878,000 50,000
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A & 0l & AF 2 E A A
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M WE X
el sgiE siB 29 (B9 ®R)
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
=)y 77,471,505 73,889,836 3,581,669
= 357,000
Al 77,114,505
ME X2 636,570 570,810 65,760
SH& AH2e 29 636,570 570,810 65,760
NEZa & 2420 g8 29 45,200 45,200 0
201 Let24E] 45,200 45,200 0
01 At 22l 45,200 45,200 0
Oger2d| 45,200
cBLAA BENT X LA UM
38,000& * 4008 15,200
CHMTANAL HALY
100,000& = 53 » 20 10,000
o ZOSIHAL HREHE BEEHA
20,000,000& = 14 20,000
SEX ALHE 29 28,690 28,690 0
201 Let24d] 28,690 28,690 0
02 2324l 28,690 28,690 0
Oge2d| 28,690
olLletEH Ol8x+2 25,000& * 3503l 8,750
cHdelE2 Y FANES
670,000 * 123 8,040
oHAYOAARE EALY
100,000& * 43| = 8 3,200
ootAHZAICHANCHY 220 KRAE=+
350,000 * 123 4,200
CHAHEAAEH SAE=
2,250,000 =+ 23l 4,500
AE L SA2)] 2434 6,000 6,000 0
202 044l 6,000 6,000 0
01 = LH o4 1l 6,000 6,000 0
OXE SARII2E Kl
20,000& = 5% = 603l 6,000
SHYR(M=R) 2sXE 556,680 490,920 65,760
204 AR A H| 556,680 490,920 65,760
03 EZYRFHI 556,680 490,920 65,760
OZAgeZ 23 (52015t)
80,000& = 9 « 12& 8,640
ONSEEESRE 75,600
o Al2& (52018t) 100,000& * 40 * 12€ 48,000
og.¢.=(6=0ldt)
100,000& » 23 * 128 27,600
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S oiat

SA EAHL

SA2e 2

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Onaggs R (520138t)
150,000& = 79 = 128 12,600
OZRALMLL T
60,0003 = 2H » 123 1,440
OESEHGZSA 100,000& = 1€ = 128 1,200
Ot g st (620I0t)
50,000 = 7629 = 12& 457,200
MY THAZ S 5,661,670 5,427,245 234,425
SENY ¥ BE=SS 2l 306,176 346,176 A 40,000
SENHE & =235 RAES 277,776 186,776 91,000
201 ¢4l 181,776 181,776 0
01 At 2t 2l 26,750 26,750 0
O e8| 6,750
o XAsSXHE A== 25,0003 » 30CH 750
cEEZ SYIIHE P2 60,0002 * 1000K 6,000
OZEXE gz 20,000
oS 600,000& = 201 = 10& 12,000
olU=HsEX 400,000& = 204 = 103 8,000
02 =24l 155,026 155,026 0
OZ3324gHl 165,026
o Xt = XAl 214,200 = 30CH 6,426
cYRA BAMWERSLS
90,000& = 2004 = 23l 3,600
cXsSi BEEE 400,000& = 30CH 12,000
oXtd Il & Al FHIEZ
5,000,000& = 14l 5,000
oxtERFH L MUl
120,000,000& * 14 120,000
ORFID HEX&H&Z| AIAER RANE
4,000,000& = 23| 8,000
206 M= Hl 5,000 5,000 0
01 M= 4l 5,000 5,000 0
OMZHl 5,000
o28Z Y0 e AZ2Z(RFID B S) #
e 5,000,000 = 14l 5,000
405 TtabF S| 91,000 0 91,000
01 AL ESHSH 91,000 0 91,000
OXXEND(RFID)2IEH D] &
2,600,000 = 3504 91,000
SHEIIAL A& & 4,400 4,400 0
201 Let24E] 3,350 3,350 0
01 At 22l 350 350 0
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ALSE TH &2 S
EXYg € 223 2

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OJIMNH=UE (S2) sS4l
7,000& = 509H 350
03 A2 Z Hl 3,000 3,000 0
OJINMEUE 22H L NS
3,000,000& = 14 3,000
301 et d = 1,050 1,050 0
09 HALAHIEA S 1,050 1,050 0
OJIAM SR (Ot=) S4Hl 7,0008 * 150 1,050
SENHE ¥ BESS 223l 24,000 24,000 0
202 044l 24,000 24,000 0
01 = LH o4 1l 24,000 24,000 0
OAAYE=A E2F NI
20,000& = 5% = 603l 6,000
O2&IAL EF0HI
10,000& = 10¥ 153 » 128 18,000
SH A 2tel 1,595,900 1,140,900 455,000
SRML sS2el 1,589,100 1,134,100 455,000
201 £B-2dH| 59,100 59,100 0
01 At 22l 59,100 59,100 0
OgEer2dH| 59,100
oSIlls=xg8 25,000& = BOE X 2,000
oEHsE 20,000,000& * 14l 20,000
ocd&dAEIx== 250,0008 * 352 * 204 17,500
ocEZFMA T2 ORI 2eltl
10,000,000& * 14 10,000
oZRrMAY e FHeH
100,000& * 8Y = 123 9,600
401 AIEHI L 2 CHEI 1,530,000 1,075,000 455,000
01 A& Bl 1,530,000 1,075,000 455,000
OAIZHI =R 1,530,000
oM & EX O
1,500,000,000& * 14l 1,500,000
CARLBIAZ E= 30,000,000 = 14 30,000
Hatzte] 23 6,800 6,800 0
202 044l 4,800 4,800 0
01 = LH o4 1l 4,800 4,800 0
OMat2e| TS =& Y|
20,000& = 3% = 803 4,800
203 YR =&l 2,000 2,000 0
03 AIBFAH S =AY 2,000 2,000 0
OMEXNE & SRMa2A 23
2,000,000& * 14l 2,000
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- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
S=EA U3 80,000 600,000 A 520,000
AR 2 S5 80,000 600,000 A 520,000
401 AIEBI L 20HEI 80,000 600,000 520,000
01 A& tl 80,000 600,000 A 520,000
OXtEzel AIRY SEI3A
80,000,000& = 14 80,000
Ar2e - 24 3,679,594 3,340, 169 339,425
EALAIE 2te| 3,274,094 3,186,669 87,425
101 14l 41,630 26,999 14,631
04 JI2ZtHZ22HEE = 41,630 26,999 14,631
O&EAMZZ 2 =2 41,630
cJIE2= 135, 114& » 3028 « 102 40,535
cNEMIHEE FE= 40,535,0008 * 2.7% 1,095
201 Let24d] 2,077,912 1,970,118 107,794
01 At 22l 136,619 127,019 9,600
Oget4 g 119,519
cHASE ¥ ASTM
500,000& = 108 = 93] 45,000
cHMSFANE (D . Hex) Eag
2,500,000& = 23| 5,000
cHMESX Fag 10,143,000 » 14 10,143
CcHALEE 703 = 36,200m = 63l 15,204
CHAMAYANE HA22E
6,591,000& * 14 6,591
cHMSZINEIZBA =8
200,000& =« 6CH 1,200
CHMHULANL (HSI S AMA=T
4,000& * 174.36RT » 204 1,395
cHAHHANL (B )HE++E
200,000& = 7CH 1,400
SHAL NAANE(ZANA)EHSZ
500,000& =« 14 500
oEAANEES FLUAMEBEIF)LFIIFEH »
== 200& = 37,840m" = 23| 15,136
CHAREINE HY 242
1,500& = 5,300kw 7,950
CHABIHY ZYNEE PY
10,000,000& * 14 10,000
O/ n=sH 1,500
oM ItA HIIWE S 300,000& » 5% 1,500
o=l 15,600
o |BSA EHIZRN 2E=
300,000& * 10 3,000
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40 5 4

T
D HAY

AR

SA EAHL
a2 S
el - 299

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
oFAMHIO =2l ¥ ZEHWA
30,000& = 60CH 1,800
o APR A OHLHEH HIZ 3,000,000& = 23| 6,000
ostEAMES ¢ 800,000& = 63l 4,800
02 =224l 1,941,293 1,843,099 98,194
O=3232<HA 1,029, 189
o HAL HIl&E 38,340,000& * 123 460,080
o HA dot=EZ
1,591& = 2,500m * 123 47,730
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2 8,417
Al 27,817
201 et d| 36,234 36,234 0
= 8,417
Al 27,817
01 AF 22| H| 36,234 36,234 0
ONZT ZEJI8 L2FH R L IR0
2SHAE elAZ 36,233,800& * 14! 36,234
= 8,417
Al 27,817
A2 SESEHHUHEMA 2= 10,785 14,573 N3,788
= 3,018
Al 7,767
201 2Bt | 10,785 14,573 13,788
= 3,018
Al 7,767
01 AP 2t 2| bl 10,785 14,573 N3,788
OANZF MAHEF2HMH 2EsHEH A&
10,784,280 = 14 10,785
= 3,018
Al 7,767
TTOOIE HY =g 2435 =2 10,000 10,000 0
= 3,000
Al 7,000
207 I & 10,000 10,000 0
= 3,000
Al 7,000
02 & AR EHY| 10,000 10,000 0
2300l MY 28 435
10,000,000 = {14! 10,000
o 3,000
Al 7,000
HHEADR AU A2LS 515,120 411,480 103,640
201 et | 153,820 82,080 71,740
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40 5 4

XYY Aot
HYHBE £ (B9 ®R)
- _ — d =
SN P SAGEH) - HRAY - BYS 0l &k o4 e HlnE2
02 =224l 153,820 82,080 71,740
OAEZHI S X 153,820
cHFYR2(2-Uet) MH |Xi2el
1,600,000& = 12& 19,200
oLSEIEAAH S/WRIES
2,000,000 = 12& 24,000
oL EMHAM SN RAE =
170,000& * 123 2,040
oEEHAMM MH SFXES
40,0003 = 128 480
ocEE2AL0 MY RXNE=
100,000& * 123 1,200
ocsg2Agelol S/W eI+
500,000& * 123 6,000
oFTP M |2 100,000& » 12& 1,200
o WHPCXI 210l MH X2+
50,000& = 123 600
CRIMEAEXI(UPS) S E==(20H)
500,000& = 123 6,000
CRFYMMAZI(UPS) SH X WH(20H)
250,000 = 4004 = 204 20,000
o2 B RAES 400,000& = 128 4,800
CANZRAEZFEHEANAE SEAECXN RAE
= 1,500,000 = 12& 18,000
oAzt S8 A RAES
600,000& * 123 7,200
oM2 SEZ192(SS0) SW fXIE=
125,000& * 123 1,500
oANEYHE HOIH AMIEE
1,200,000 * 14l 1,200
o ZOHUSBECIAI AR JHQIEE 2 AIAE
S8 1,100,000 = 12& 13,200
ScHIMAHAAE SIE=
1,400,000& = 12& 16,800
ocHMAY MHEB(HERIT A9KX) RAES
500,000& =+ 83 4,000
CHOIBEHAMAIAH LS3E2E RAE=>
200,000& * 123 2,400
oMY EgtH KA+ 500,000  8& 4,000
308 MtXIEHMSOIH 126,300 115,400 10,900
10 SII 2SO CHEHZ & = 0 & A& I 126,300 115,400 10,900
OAlZ7 S3JI8 daEH |FX2el /I
88,000,000 = 14l 88,000
OAZF Moll=RAIAE |FX22 AS
8,300,000 = 14l 8,300
OXNLHZISEZTZANLE NMElATAR 29
<& 7,000,000& = 14 7,000




A=
Ha: HUNYH A2
ol MEEDS XA (B9 ®R)
- _ — d =
SN P SAGEH) - HRAY - BYS 0l &k o4 e HlnE2
OHEFg=R2el(2-UehHAlAE sXizel AL
23,000,000& =« 14l 23,000
403 UtXSHHSA=0l& 200,000 72,000 128,000
02 I 2S0ICHEt A =& OH & A H 200,000 72,000 128,000
OAlZ+ 23718t APAH WA
200,000,000& * 14 200,000
405 XHobF S HI 35,000 142,000 A 107,000
01 HatH ESFH S 35,000 142,000 A 107,000
ogeagsll ¢ 35,000,000& = 14 35,000
CIHUAIAE 2 494,845 476,615 18,230
201 L4l 88,845 133,615 ANA44.770
01 At 22l 9,045 8,095 950
O e8| 9,045
SZHOIX HE N2/ 3=
100,000& * 1298 * 33 3,600
o2&l SUHES 0IEE(HHE EHOIX
) 60,0008 * 123 720
o2l B0 SUHEUS OIEE(MSAXLUA
) 60,000 * 123 720
cEHeEE RAF==+E 29,0002 * 9 261
CHIEHASE RA+42
165,000& * 6K 990
c2HM THUSE SNE%R
28,0002 * 8H 224
CBITMHAUSE RN44E
36,0002 * 54 180
oZHOIX FFE2H SE03 2SS A
2,200,000& = 14 2,200
oSE2ALel0l 10S MY HE AZp
= 150,000 * 14 150
02 =224l 79,800 125,520 A45,720
03322 %2 HA 30,000
oxIHOHY 3lHdZ2  2,500,0008 128 30,000
OAE ZHIS X 49,800
CQHUANHIAANAH 224
1,800,000 = 12& 21,600
ocHEESAAH RAES
1,900,000 = 12& 22,800
o ZHOIX RXE= 1,800,000& = 3& 5,400
207 51 OH £ Hl 376,000 118,000 258,000
01 2284 6,000 3,000 3,000
OZSEA AMOIE S8 & 2= HE FIHA
A= e 6,000,000& = 14! 6,000
02 & AR I 370,000 115,000 255,000
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CE(B) - HEAY - BYS %Eﬁ HD=2
HAAIOIE S8 & 2AZ2=HOIA HH
370,000,000& = 14 370,000
30,000 225,000 A 195,000
=3 St 30,000 225,000 A 195,000
S &Y LA 30,000
ghoted A Yl WA
30,000,000 = 14l 30,000
& SHSALY 837,000 873,100 A 36,100
100,000 120,000 A 20,000
23| 100,000 120,000 A 20,000
Al & ZHH| & Xl H] 100,000
ol HAMYSIAH S22
100,000,000 * 14! 100,000
405 XHoHFE S HI 737,000 753,100 A 16,100
01 AHAHY F S H| 737,000 753,100 A 16,100
ods 2 2AEH Y
1,500,000& * 250CH 375,000
ozZgly ¢ 800,000& » 100CH 80,000
OAZEANNH ¢ 282,000
OANEE2 AZEYON P22 (Microsoft, GAS)
250,0002 * 600K 150,000
CARE ATEYN FYU(SHS 2014)
200,000€ * 2004 40,000
cOZATEY N 2HONMA(EZEL 1HAIS
) 500,000 = 3074 15,000
ofPC =S8 KREE 40,000 * 300H 12,000
OHHAIATZTERNH 7L 30,000 = 1,5000H 45,000
oQc2t20B E& Jl=XNgE HE 20|84 A P2
el 20,000,000 = 1Al 20,000
& | 7,000 5,600 1,400
7,000 5,600 1,400
7,000 5,600 1,400
B3 =& dl 20,0008 x 5% = 703 7,000
2= 1,194,980 , 189,509 5,471
& 43,481
Al 1,151,499
=229 700,657 700,657 0
700,657 700,657 0]
700,657 700,657 0
2 XAl 700,657
B EA (070X 3H/C1EH Y)
11,000,000& = 12& 132,000
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A=
Ha: HUNYH A2
Sl ¥ESAMY 29 ¥ 25 CERED
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
ocdutX 3 3 M= (645 &)
1,500,000 * 12& 18,000
CBNFPSANY FHE
6,896,300 = 12&€ 82,756
oMYA S,8, S T/0alM 2 (1793 &)
5,000,000& = 12& 60,000
oXMZa|lH DATASI & 2 (243 &)
8,390,000& = 12&€ 100,680
oMIALEY 3N 2 (283 &)
13,590,720 = 12&€ 163,089
oADSL(QIEY) 3l &2 (598 &)
3,000,000& = 12& 36,000
o SEUIS(2RAHIAAIE 2
4,000,000& = 12&€ 48,000
oSKE A3 A2 (113l 4A)
900,000&  12& 10,800
o AJI0|20E  2EHRAES L HIEL LA
AE=S 450,000& = 12&€ 5,400
oM TT A2 2(80H) 132,000& = 12& 1,584
oMMBAAIRZA FJHAEE
54,000 = 12&€ 648
oAHEE S2GAIAH(EDI) & ExMG
8,330 * 128 100
oHlX& AIEZ= 1,500,000& * 12& 18,000
ocZ80HsE HEOZ24MH &2 (208 4)
525,0008 ~ 12& 6,300
o PHIYZED|B MHIA 3&AER
150,000& * 128 1,800
ot HOlH a&dz= 500,000 = 53| X 2,500
o2E HIIHMAI FN&Z
100,000& * 13038 & 13,000
SEANHMEY SIS 165,000 231,000 A 66,000
401 AlEHIZL 2 0HY| 10,000 10,000 0
01 Al&H| 10,000 10,000 0
OAIRATHEIXIO 2 RFUHSAAE 0l
10,000,000& = 14 10,000
405 XHA&HF S HI 155,000 221,000 A 66,000
01 XA 2 ZF S H| 155,000 221,000 A 66,000
OZLEANE 15 24 dZo =5 WA (FULL
2tet LED M &) 150,000,000 * 14! 150,000
O8= A&tA HIOLLEZAEH WH
5,000,000& = 1A 5,000
SAEH sl 140,000 135,000 5,000
201 gBt24d| 140,000 135,000 5,000
02 2%l 140,000 135,000 5,000
OAAEZH KXY 140,000
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M ox
40 5 4

= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
oJl& 100,000 » 221004 « 12& 265,200
o bl 100,000& * 2904 A& = 12& 34,800
OCCTV &2l & 13,000 » 250004 « 12& 39,000
OA&ZH R Xl 91,560
o(CCTV AIAE 2te| 460,000 » 1860H & 85,560
oAECXN FXNES 75,000,000& * 8% 6,000
401 AIEBIZ 201 8] 367,000 374,000 A7,000
01 A& Bl 367,000 374,000 A7,000
OCCTV AIAE KXl2tel =
5,000,000& * 64 30,000
Oogds CCTV &XI(alH)
22,000,000& » 11002 242,000
OCCTV =& (Mat&) WM 4,000,000& = 20CH 80,000
OCCTV SE2ANMEHIA HE HASA
15,000,000& * 14 15,000
405 XHoHF S HI 30,000 60,000 230,000
01 XL 2 ZFH S| 30,000 60,000 A 30,000
OCCTV Se2Ha SHMMATI £X
25,000,000& * 14l 25,000
OCCTV S&2H &l & HHHI X
5,000,000& = 14 5,000
a2t 23l 2,800 4,200 21,400
202 O4dl 2,800 4,200 21,400
01 = LH YI 2,800 4,200 A 1,400
OLMBRALLEA Oft]
20,0004 = 28 « 703l 2,800
HE2IAZH(BESAD) 29,950 29,950 0
Jl=Z3l 29,950 29,950 0
JlE2ztl 29,950 29,950 0
201 Let24E] 16,300 16,300 0
01 At 22l 16,300 16,300 0
Ogpt=&H| 12,300
cHF AR ESHI 2,300,000& * 14l 2,300
SHBAMNRININ 223 6,500,000& = 14 6,500
= J|Et==&H| 3,500,000& * 14 3,500
O=4Al 4,000
oll=gRsdgAtl 4,000,000& = 14 4,000
202 O4dl 9,450 9,450 0
01 = LH 4 Hi 9,450 9,450 0
OJl2g =0t 90,000& = 21¥ « 53] 9,450
203 YR =2l 4,200 4,200 0
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